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152.
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154.

LANGUAGE TEST
English

Which statement does the author most likely agree with?

(A) There are too many species of carnivorous plants.

(B) There are a few plant species in the world.

(C) Only a small number of plants are carnivorous.

(D) A majority of plants are carnivorous.

Which plants traps bugs in its stem and forces them to walk forward?
(A) Corkscrew plants (B) Sundews

(C) Bladderworts (D) Pitcher plants
Which event happens last when Sundews eats a meal?

(A) The Sundews create mucilage.

(B) The Sundew’s tentacles curl in response to the prey.

(C) The bug is attracted to the mucilage.

(D) The Sundew releases enzymes.

Which best defines the word treacherous?

(A) Something that provides nutrients.

(B) Something that is very bright.

(C) Something that tastes delicious.

(D) Something that has a hidden danger.

Q. (151-154) Read the comprehension passage carefully and answer the following questions -
There are over a quarter of a million plant species. Only 600 or so are carnivorous who call,
attract and eat bugs. They live in bogs and places where the soil lacks
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Q. (155-158) Read the comprehension passage carefully and answer the following questions: -

In 1848, gold was found in California. Thousands of people rushed there to get some. Many
people liked living there and decided to stay. At that time there was no train line. In 1860 and
1861, the Pony express was the fastest way to get news to and from the West. It could make the
trip in just ten days. The Pony Express had 184 stations along the trail. The stations were around
ten miles apart. This is about how far a horse could run at a gallop before tiring. The rider would
switch to a new horse at each station and before resting the would give his mail pouch to new
rider. The mail never stopped moving, even while the horses and riders rested. Each rider had to
weigh less than 125 pounds. Speed was the key. Most of the riders were teenage boys who rode
at a fast pace for upto 100 miles a day. If there was an emergency one might have to ride 200
miles in a day. In its time running, the Pony Express only lost one mail pouch. The Pony Express
played an important role for a time but it did not last.

155.  Which best explains why Pony riders had to weigh less than 125 pounds?
(A) Heavier men were more expensive
(B) Horses were scared of heavier men.
(C) Heavier men scared customers.
(D) Horses could make quicker with lighter men.
156. How fast could the Pony Express take a letter from California to Massoorie?

(A) 24 hours (B) Ten days
(C) Twenty days (D) One month
157. About how far did Pony Express riders travel on a usual day?
(A) 10 miles (B) 200 miles
(C) 100 miles (D) 2000 miles
158. How many pouches did the Pony Express lose?
(A) Never lost a pouch (B) One
(C) Two (D) Too many to keep track

Q. (159-162) Read the following passage and answer the questions based on it.

Nehru was a many sided personality. He enjoyed reading and writing books as much as he
enjoyed fighting political and social evils or residing tyranny. In him, the scientist and the
humanist were held in perfect balance. While he kept looking at special problems from a
scientific stand point, he never forgot that we should nourish the total man. As a scientist, he
refused to believe in benevolent power interested in men’s affairs. But, as a self proclaimed
non-believer, he loved affirming his faith in life and the beauty of nature. Children he adored.

Unlike Wordsworth, he did not see him trailing clouds of glory from the recent sojourn in heaven.

He saw them as a blossoms of promise and renewal, they only hope for mankind.
159. Nehru thought that children

(A) Were trailing clouds of glory.

(B) Held promise flowers to be loved and admired.

(C) Were like flowers to be loved and admired.

(D) Held no hope for mankind.
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Nehru enjoyed

(A) Reading and writing books

(B) Fighting political and social evils

(C) Resisting tranny

(D) Doing all the above and much more

Which of the statements reflects Nehru’s point of view?
(A) Humanism is more important than science.

(B) Science is supreme and humanism is subordinate to it.
(C) Science and Humanism are equally important.

(D) There is no ground between science and humanism.
A many sided personality means

(A) A complex personality

(B) A secretive person

(C) A person having varied interests

(D) A capable person

Q. (163-166) Read the comprehension passage carefully and answer the following questions.

Tigers are the largest and most powerful of all the cat species. Despite all of the tiger’s strength,
the future of the species is uncertain. It is estimated that at the start of the 20t century, there
were over 1,00000 tigers living in the wild whose number has dwindled to just over 3,000. Serious
threats that tigers face come from Homo-sapiens better known as humans. Tigers are hunted for
many reasons like their striped skin, which is worth $10,000 in the black market. Though the fur
would be an incentive for poachers, other parts of tiger can fetch pretty penny. Some people in
China and other Asian countries believe that tigers parts have heling properties. Traditional
Chinese medicine calls for the use of tiger bones in some prescriptions. Tigers have also been
hunted for the sake of thrill in a game. Humans have done considerable damage through the
destruction of habitat. Over the past 100 years tigers have lost 93% of their historic range. A
major obstacle to preserve tigers is the enormous amount of territory that each tiger requires.
There is no way to preserve the wild tiger population without making large sacrifices.

Which of the following is not a reason in the paragraph explaining why tigers are hunted?
(A) Because tiger’s skin is worth a lot of money.

(B) Because tiger’s parts are used as medicine in some cultures.

(C) Because some tigers attach local villagers.

(D) Because tigers are hunted for enjoyment by some people.

Which number is closed to the estimation of the wild tiger population in 2003?

(A) 3000 (B) 1,00,000

(C) 140 (D) 30,000

Which best explains why tigers have lost so much of their habitat according to the text?
(A) Because humans are afraid of tigers.

(B) Because tiger’s skin is very valuable.

(C) Because humans have changed the land.

(D) Because tigers need so much space to survive.
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Based on information in the text, which best explains why tigers are poached?
(A) Poachers hunt tigers to protect their families from dangerous animals.

(B) Poachers hunt tigers for medicine to cure sick family members.

(C) Poachers hunt tigers to earn a large amount of money.

(D) Poachers hunt tigers because they enjoy killing dangerous animals.

Q. (167-168) The following five sentence come from a single paragraph. The first and last
sentence are given. Choose the right order in which the sentences (PQR) should appear to
complete the paragraph.

S1. While talking to a group, one should feel self confident and courageous.
S2.

S3.

S4.

S5. It is like the ability to play golf.

P. It is not as difficult as most men imagine.
Q. One should also learn how to think calmly and clearly.
R. Nor is it a gift bestowed by providence on only a few.

Choose from the options given below:

(A) RPQ (B) PQGR
(C) PR (D) QRP
S1. Once king Shantanu met a fisher girl.

S2.

S3.

s4.

S5. King Shantanu did not agree to the condition.

P. The fisherman agreed to it on one condition that his daughter’s son should become the
heir to the throne.

Q. He fell in love with the girl.

R. He went to fisherman to ask for her hand.

Choose from the options given below:
(A) RPQ (B) PQR
(C) QPR (D) QRP
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approp
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Q. (170

171.

172.

173.

174.

175.

176.

177.

-170) The following questions have the second sentence missing. Choose the
riate sentence from the given options to complete it.

I. In order to raise company profit, the employees worked hard.

1. .

IIl. However they offer to work over time without any compensation.
(A) They decided to raise the cost of raw material.

(B) They decided to pay attention on quality.

(C) They store and black market the manufactured items.

(D) They demanded two additional increments.

I. Nothing comes out of nothing.

.

lll. A person who thinks that luck would favour him without lifting his finger even, is living
in a fool’s paradise.

(A) So, we should work hard.

(B) Fate is supreme and everything can be gained by it.

(C) So, we should sit idle and hope for the best.

(D) We should not worry at all and pay attention only for our welfare.

-171)

Fill in the blanks with the most appropriate option from the given alternatives.

The economic has affected our sales tremendously.
(A) Touch down (B) Show down

(C) Slow down (D) Crack down
Now the management graduate can expect to have a life in the city.
(A) Menial (B) Tedious

(C) Boring (D) Prosperous

The village was by the earthquake.

(A) Dazed (B) Razed

(C) Fused (D) Bemused

The committee decided to a new member in the organization.
(A) Appoint (B) Commit

(C) Detain (D) Suggest

The teacher his students.

(A) Survived (B) Laughed

(C) Berated (D) Shunted

The gypsies do not live at a particular place.

(A) Broadly (B) Willingly

(C) Voluntarily (D) Permanently
She was remarkably in singing and dancing.

(A) Conducive (B) Cooperative

(C) Accomplished (D) Fluctuating
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182.
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184.

185.

following all the instructions closely, he missed out an important

guidelines.

(A) Instead of (B) Inspite of

(C) Although (D) Otherwise

Google is one of the most popular search engines, it is by the internet users.
(A) Utilized (B) Examined

(C) Effected (D) Flabbergasted

Her silence was taken as agreement.

(A) Concluded (B) Aggravated

(C) Tacit (D) Repented

Q. (181-185) Select the meaning of the underlined phrase/ idiom:

Being the head of a family, he finds it difficult to keep his head above water.

(A) To take rest (B) To work properly

(C) To avoid quarrel (D) To survive easily

On the eve of inspection, everything was kept in apple pie order.

(A) In random order (B) In perfect order

(C) Carelessly (D) Timely

Land has always been an apple of discord between two brothers.

(A) Cause of quarrel (B) Cause of happiness
(C) Cause of ill health (D) Cause of contentment
Mohan had to look high and low before he could find his scooter key.
(A) Everywhere (B) No where

(C) Some where (D) Always

We kept our fingers crossed till the final results were declared.

(A) Felt scared (B) Kept praying

(C) Kept hopeful (D) Waited anxiously

Q. (186-192) In the following passage, there are some numbered blanks. Fill in the blanks by
selecting the most appropriate word from each blank from the given options:

The term “broadband” refers to telecommunication in which a wide band of frequency is ready to

send (186) .1t (187) users to (188) Internet at (189) speed
than traditional (190) . High-speed Internet allows users to (191) data processing
and high-speed (192) technologies.
186. (A) Quotes (B) Signals

(C) Alarms (D) Clues
187. (A) Agrees (B) Disables

(C) Allows (D) Instigates
188. (A) Access (B) Digress

(C) Regress (D) Supress
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194.

195.

196.

197.

198.

199.

(A) Lower (B) Higher

(C) Regular (D) Normal

(A) Keypads (B) Mouse

(C) Monitor (B) Modems

(A) Irregular (B) Advance

(C) Optional (D) General

(A) Transferred (B) Transmission

(C) Fundamental (D) Transcendental

Q. (193-198) Choose the correct antonym from the options given below:

Abdicate

(A) Join

(C) Abandon

Rectify

(A) Bear

(C) validate

Respite

(A) Break

(C) Fatigue

Upheaval

(A) Harmony

(C) Miracle

Change the voice —

He kept us waiting.

(A) We had kept waiting by him.

(B) We were kept waiting by him.
(C) We had been kept waiting by him.
(D) Were we kept waiting by him.
Who is laughing at the beggar?

(A) By whom are the beggar being laughed at?
(B) By whom is the beggar being laughed at?
(C) Whom are the beggar being laughed at?
(D) By whom were the beggar laughed at?

(B) Search
(D) Advance

(B) Correct
(D) Destroy

(B) Commencement
(D) Continuation

(B) Radical change
(D) Dynamic

Q. (199-200)

Choose the synonym of the underlined word from the given options.

It is very difficult to retain all that you hear in the class.

200.

(A) Keep
(C) Recall

The story is too fantastic to be credible.

(A) False
(C) Believable

(B) Preserve
(D) Conserve

(B) Readable
(D) Praise worth
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